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General Instructions :

(1) Answers to questions carrying 1 mark may be from one word to one sentence.
(11)) Answers to questions carrying 3 marks may be from 50 - 75 words.

(1it) Answers to questions carrying 4 - 5§ marks may be about 150 words.

(tv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.
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1. ' Y S G ANA-ald S S W 7 W@ g had 3fad & &l &, 1
foraneti 1 oI T 97 3291 bl T i ¥ E 2?7 3T SW & gHedH H R0
é”\aﬂl

‘Is Management concerned only with doing the right task, completing activities
and achieving goals without taking into consideration the cost benefit 7 Give
reason in support of your answer.

2. ‘'Us YA & w9 H T &1 A ST | 1

Give the meaning of ‘organising as a process’.

3. 3O GISAHS B9 H A TRy S el Td Ugd ] dgidl <dl © | 1

Name the type of organisational structure which promotes flexibility and
Initiative.

4. HEHE BRAANT H ‘HRHT Tk (¥ &) ' Hi YHHI *1 Seor@ & 1

State the role of ‘route clerk’ in functional foremanship.

5. To<iia game o 39 98] 1 A9 9A1d gU Se0T® HITSC 51l % i ‘7R qdr ‘gwa 1
ST 1 STETIRAIST T ATE STTAM @M H Hheldl &M Sl & |

Name and state the aspect of financial management that enables to foresee

the fund requirements both in terms of ‘the quantum’ and ‘the timings’.

6. 3TTAT IR Bied & a1g N[a wgrami 319+ o & |1 U ygae-fafqes oot 1
3RY & ARd 91 3ITeh! 91 =al of for el o fafire foemmet & @y
AIEEA-HIT &1 3culed dIRY ® | e wgeml 3 o7 weqy fean fe
HEEd -l i Yfd Jgd Sieal YA 8 i § a1 36 Fau™ | i
TRl gSiT o faf & s FR SAreegend 8rft | 37d: 36 319§ Sl Tl
1 FaHE AR HH & foaw 771 foran |

ol gSft ot STTavIRarsti sl gHIfod A ot IW dcd ol TgaI fHe R

Rl wgramal 3 HieEd ®F 6l o H EieR Ia|™ &1 g6 |

66/1 3 P.T.O.



66/1

Rizul Bhattacharya after leaving his job wanted to start a Private Limited
Company with his son. His son was keen that the company may start
manufacturing of Mobile-phones with some unique features. Rizul
Bhattacharya felt that the mobile phones are prone to quick obsolescence and
a heavy fixed capital investment would be required regularly in this business.
Therefore he convinced his son to start a furniture business.

Identify the factor affecting fixed capital requirements which made Rizul
Bhattacharya to choose furniture business over mobile phones.

fauom & 39 w1 w1 9 IqET S Al IR Sl AN U9 WE Yo 3
Hrafeed B

Name the function of marketing which is concerned with the cost and location
of target market.

YA ¥ T M gHMCR ¥ Th TG 9 &1 TR 1 Th S TN S
Sl Gle W 3IW TR H Tk e 1 Zohel el | 397 3Heh! forhrd gohmer 9
Tl 91 39! a1 gEf-od s & 99 99 fedr | T 9w & fid
FHUET 1 FIAR ST % WY gHT 6 R gl 33U 3F 95 H U A9
TR w1 Tohe foon @y & suaht s/gfaen iR afqufd & faw 38 =R fafve g&r
F TR ot fou

e 1 59 3Iuvien sifyehR o1 9 foRan 39ehT Seer@ hifsT |

Suman bought a box of cheese of a reputed brand from a local shopkeeper. On
opening the box she found a piece of stone in the cheese. She reported the
matter to the shopkeeper who forwarded her complaint to the concerned
company. Within a week the representative of the company visited Suman’s
residence with an apology and as a replacement offered her a new cheese pack

with four other varieties of cheese as compensation for the inconvenience to
her.

State the consumer right which Suman exercised.



9. ‘frarm’ =1 uRfyg wifsw ) e ufshan & 999 € =X &) THEE | 3

Define ‘Planning’. Explain the first two steps in the process of planning.

10. ot HAS FAETE ToXUTgsisl o @Ml § 3R fosiell & Sy fmin & 2ea 3
W@ T GeT § ogd & ey of iR ofed W T 9 w1 SH e
S¢ Az, e SAfi-31+ft oo T T I8 ®T €, ¥ THR BRI g A
el |

Oz 1 T foh 35w § 9 R & o o1 & cifusr Sgeh faar & el |
d | Tk Afafed 3Gk fUdl ol 94 HH=ATE! i AFadl U favar &1 a1l 39%
HRUT HHART G T 9|

(31) T foR=l <1 TEIwoT Sened bt Uga Sifere foeh RO FAEm TeXusss’
37T A&l I YT Tal L 91 W oA |

() IWE (3F) 97T H 989 T GAF o191 o YhR hi Teh AR N ] Seoid
HIfSTT |

Mr. Fernandes is the owner of Unibie Enterprises, carrying on the business
of manufacturing electrical appliances. There is a lot of discontentment in the
organisation and targets are not being met. He asked his son, Michel, who
has recently completed his MBA, to find out the reason.

Michel found that all decision making of the enterprise were in the hands of
his father. Moreover, his father did not have confidence in the competency of
the employees. Thus the employees were not happy.

(a) Identify any two communication barriers because of which ‘Unibie
Enterprise’ was not able to achieve its target.

(b) State one more barrier each of the types identified in part (a) above.
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‘HHeHh T=wEsy fafies’ & Hgasyeres-31qd, faqoH steael-famm aen

e U Joreeh-iql 3wt Sieq o1 oy foran |

A % & HREGN Jorged 3 A GEIEA Jaeh-afl ol Jarn iR 399
3Ty TR ff 98 diTed Bled | Ygdl @ielt 9ai &l X1 o1 3 o fean
SHHT ALY FAR T gean §, S {5 agd & 9 v fovadq g g, afc Jegwa
T 39 W R foF S¢ @1 g 9t Tewash w1 FT | T FRERRT Teleeh
=% fou weua & T FUR T g¥ar 7 foy Rewed ' @ g fwan fo=<i
‘e T=UEsS fafiee’ & fau fauum sy & ug &1 fagmq fean 3
FIA & AT TH IUGF TART S R § 6 gLl SIqd % Rad U @l
SRIed H IqaTsy STyTffd WIeATasl ol ™ W@ wie W e man

(31) S R T& &l 9 o fa ‘HHew T=Ess fafiee’ g’ 9ga widl
% AT/ Hdi o H Faisd |
(¥) ST YgaM T 9ol o TP | & Th-Teh a1y ol 3eai@ Hf Hifg |

Atul-The Assistant Manager, Vikas-The Marketing Head and Leena-The
Human Resource Manager of ‘Montac Enterprises Ltd.” decided to leave the

company.

The Chief Executive officer of the company called the Human Resource
Manager, Leena and requested her to fill up the vacancies before leaving the
organisation. Leena suggested that her subordinate Miss Rama Wadhwa is
very competent and trust worthy, if she could be moved up in the hierarchy,
she would do the needful. The Chief Executive Officer agreed for the same.
Miss Rama Wadhwa contacted ‘Smith Recruiters’ who advertised for the post
of marketing head for ‘Montac Enterprises Ltd’. They were able to recruit a
suitable candidate for the company. Atul’s vacancy was filled up by screening
the database of unsolicited applications lying in the office.

(a) Name the internal/external sources of recruitment used by ‘Montac
Enterprises Ltd’. to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.



12. &t foorg A ‘STE.S.UH. o' & S A1 S 31 a1y AfSid X W eanl 3
ST 9gd TR 9 Fifh g Fafa T 9 A9 F P w @ AT SR
390 1 ASR-Ted H FAfHa €9 9 9 W1 A1 9% ‘I, don’ T SRR &

Y SO S o a1l foeg 90 a9 {39 Seon 9 TR ST, 9% %
39 1 Jod 9| b H1 THh 661 BH & 10 3= 9 o A} TG I
AR TR A1l IR T T o I gohe 1 ot iR 3@ o dw |
3 4 wUe faf=ifaa &3 & fag &, @9 & 39 YSa a9 &1 ot JE |

STRMEY S0 o U¥Td 3190 &1 qod 50% 9§ T AR Tehe o ST & FSIR
e 379 T 6 HUS B T Tehg &l T 2 HUS &I 19 3T I 1 IS T
fomrm #gq &1 ? fU iR 1 #e ¥93 W W@ fau) 9Rd gfayfa wa fafem

N ¢

are (9+f) wHfow sarell 4 ygds wd fafthd 9 & 9 38 Atafyadr =1
GAM R I Feit | o 7g0 W 9 AT @I |

ST ST{=98 | Uferddl sl 3qYd I gC et gr freuifed fordi <1 svraf 1
TEEIT TH ST Seeid hify |

Mr. Vikas Mehra was the Chairman of IBM Bank’. The Bank was earning
good profits. Shareholders were happy as the bank was paying regular
dividends. The market price of their shares was also steadily rising. The bank
was about to announce the taking over of ‘UK Bank’. Mr. Vikas Mehra knew
that the share price of IBM Bank’ would rise on this announcement. Being a
part of the Bank, he was not allowed to buy shares of the bank. He called one
of his rich friends Mukand and asked him to invest ¥ 4 crores in shares of his

bank promising him the capital gains.

As expected after the announcement, the share prices went up by 50% and
the market price of Mukand’s shares was now ¥ 6 crores. Mukand earned a
profit of ¥ 2 crores. He gave T 1 crore to Vikas Mehra and kept T 1 crore with
him. On regular inspection and by conducting enquiries of the brokers
involved, Securities and Exchange Board of India (SEBI) was able to detect
this irregularity. SEBI imposed a heavy penalty on Vikas Mehra.

Quoting the lines from the above para identify and state any two functions
performed by SEBI in the above case.
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YT F&0 AT, 1986 & TEUM & ST{UR Teh ‘IuHiel’ | 1 A9y
€2

What is meant by a ‘consumer’ as per the provisions of Consumer Protection
Act, 1986 ?

‘gory' B o AT B 27 sHet TET Rl o faianeti & 9@y S 39 U
FHell & ®Y H Tofud wd © |

What is meant by ‘Management’ ? Explain its any three features that establish
it as an Art.

SN T SUANT-2Tedl § Uied o e Herst 3, S foh v fWeial wt g e

T o1, 379+ FaH™ &l dlheld & Faq™ § dga fordn | feamet & oo T 394

3fed Hou W Afhcde & SRYE Uohsl TR fhT 1 SHA SAfersk HiT 1 STAN
T SR AT TRY YT HH & U Iihicda.®id 79 &l Th Jo@Ee
TIE | Y AR 95 Y el IR aichere &l okt §R 387 STt oy
CIECRCRI

IR feafq o afda meEfas TaieRor & STl ol UgeY U9 T9esy |

With change in the consumption habits of people, Neelesh, who was running
a sweets shop shifted to chocolate business. On the eve of Diwali he offered
chocolates in attractive packages at reasonable prices. He anticipated huge
demand and created a website chocolove.com for taking orders online. He got
lot of orders online and earned huge profit by selling chocolates.

Identify and explain the dimensions of business environment discussed in the
above case.



16. ‘W #R fafiee’ A ufem sma & T o &9 § el «d & a9gd #9 a4
Uy 9, YT T8 wR AT 1t et Tnfud e @ fo ferm 39 e
& A A O FR fafiee’ & 39 WM @ W R FEA A ag ot fol
feren o gt ofter & TR, oToudma, aeiR gefe Siet giaemd off Sucrsy &
STC difeh @ el B HEIR o6 ®9 W wEd FH % Ul STeR{dd o |
‘g &R fafiee’ 7 sty oy sifsid e YW Y fean ) weh-gudl gfaEr
FHEAT 7 3T IR Yoy ‘Ifas’ 1 ‘AR wR fafiee’ gr sifsia foeg s
@ ITAMYE oMY o HRON ol Il o & foIg gl
sRfa< 7 TR foh SHl & S § GeAnTd el i Ui & fog fafiys
forensti & ofte afied gu=@ 81 ToF FHAR & I8 I © fF FF fFas gfa
ST UF SaeeE ¢ | had @ a1 © foh 3T G4 H THY0T GraH- et
& Y 9 & A T, Sk (AW HR fafges’ wHue H AEvIRdaR gt
feemeti # yanfed g9 1 AN YeH Fd €, Fd el =1 e gamE e ©
3R g oft g w2 S 7

(31) G137 & 3F YR &l YgaC S ‘018 R fafiee’ § qewo w1 gt
feemetl # yatfed w3 i TIANT FSH Il ¢

(9) STUF 9 (37) H Yg9M T G789 & YR & Teh a1y &1 ff Se@
RIS |

(9) TF < qedl &1 Seor@ Hifee o1 ‘A &R fafree’ wue & awfd &
IRt

‘My Car Ltd. decided to set-up its new car manufacturing factory in the

backward area of West Bengal where very less job opportunities were available.
People of that area welcomed this effort of ‘My Car Ltd.” The company also
decided to provide facilities like school, hospital, market etc. in the factory
premises so that the people are attracted to join the factory as workers.

‘My Car Litd.” started earning huge profit. Another competeting company asked
its production manager ‘Arvind’ to investigate the reasons of earning huge
profits by ‘My Car Ltd.
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Arvind found that in both the companies there was systematic

co-ordination among the various activities to achieve organisational goals.

Every employee knew who was responsible and accountable to whom. The only

difference was that in his organisation communication took place only through

the scalar chain, where as ‘My Car Ltd.” was allowing flow of communication

in all the directions as per the requirement which lead to faster spread of

information as well as quick feed-back.

(a) Identify the type of organisation which permits the flow of communication
in all the directions in ‘My Car Ltd.’.

(b) Also state an advantage of the type of organisation identified in part (a)
above.

() State any two values which ‘My Car Ltd.” wants to communicate to the
society.

‘TTE. TeRY fafiee’ waferRu-TuHeieal % €9 wF R W Bl FauE 7q
3Tt S 9 A JAd T TRl I TR o o e fafis T &t amn &
1 HEHT T Aifd & FATER IH AT g1 STES g AT RN AT STfch I
M WA gRI A wdt oft | THH T haa Afus FHI Tar o1 AfYg wfl-
Fefl I 1 Afge Wl Kl Aohcd off AN KA & fAIU FSER AT gl on |
T GRH W&y, AT TS 329l ol Ui & faIt 39 YR 9
1 TR R UM &SI ITY STUTRIT o | HFIHT o A HIABRT STTUHRT Tl $Hoh
IR Y g1 =l | 3 A9 JAd I o, 39 fava § 39k Wi == bl qAT HEIH]
i AN Aifd 9<a <11 Fg (o forn o o wios § @ wfed 9+t 9= &
1 I B4 SR AR F I HT GGIAN A& i & S arelt F&fa i ==t
B & | TUH GHRHS JUE U1 IR A9 & JoAF =T A Y a1 gRI Ut
deh § 1 HET IRH R fean|
& ®EGRI AR §N TG G4 o & qcd ohl [oQudist] o1 Seoid
HITSTT |

‘A.S. Environs Ltd." is dealing in Environment-Consultancy. To get the
business, the team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the team leader
used to travel by air whereas his team travelled by road/train. It was not only
time consuming but also at times forced the female team members to travel

alone.
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As a result, the subordinates were not acting in a desired manner to achieve
organisational goals. The CEO of the company came to know about it. He
called the team leader, discussed the matter with him and decided to change
the travel policy of the company. It was decided that in future all the members
including the leader would travel together and usefully utilise the travelling
time in discussion about the presentation to be given to the clients. This made
a positive impact and every member of the team started acting in a manner
as desired by the team leader.

State the features of the element of the function of management used by the
CEO.

Teh AT ' [H oM aTett eie ' 1 faqoe X @ off, Sl $9eh! e AR TR
1 Y& i ST dTelt fasha W= Haredl o Rl 9gd g off | T aeR
T T AU HEE! off AR Ty @y SIfia X W@ ot | STt A ok &R
HEHT A Toshg-3uU= Hanetl W e S s o a1 3Hen Ui Ty Ureeh
& GIY HA o Ty TGUE 81 T G Sl i A5 H hiAT ohi Sfd @ 8
TS| A AR & T TATHH FH T T oA JaoA 39 ar | faf<a
T3 Toveoo W 9% var =all foh SHhT RN foshaiai=a Sanedl &l &H § T8
TEAT AT 37d: HFHT A ST bl TS § AT ST{ha Bfd Hl GfHd v &
I YR A o fau gt dva 3am feru
(31) S afvfa feorfa & fouomeral gra st =0t sfa &1 gurA & fau g
YU o YA 1 A Fdd §C IHHT Ieei@ hITT |
(9) 9F (31) ¥ 989 TC 9EF & figet off q9emEe |

A company was marketing ‘Juicers’ which were very popular due to their

quality and after-sale-services provided to the customers. The company was
a leading company in the market and earning huge profits. Because of huge
profits the company ignored the after sales, services. As a result its relations
with the customers got spoiled and the image of the company in the public was
damaged. Top management became concerned when the profits for the current
quarter fell steeply. On analysis it was revealed that ignoring the after sales
services was its reason. Therefore the company took all possible measures to
protect and promote its favourable image. As a result the goodwill of the
company improved in the society.

4
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(@) Name and state the communication tool used by the marketer in the
above case to improve its image.

(b) Also explain role of the tool as identified in Part (a).

foxiia aR g frofea &l o1 Sooi@ hifeTy |

State the functions performed by financial market.

S 99 qd H¥h A @rE Uit | feill gt & 39 $© §EI 9% o€ qd
forepe oM afefl sheat | o foham ) o8 38 ol | G 8l o1 9°1 39 I
fofa foen for o8 9 o foge 9 M aTell W& =t T S e LATiad S|
s U 399 B U9 ded fAuifta fou 3R 3% 99 &1 &1 ShEd-JeHmn
SIS |

IGHT T 329 gUq o | fafranfsra ufn ) 50% ey A e an 9z fofa
fon o fo s=n 9 S 2Te, Wi, THe SIE S WElH i SUR W B
W | 39 98 ot foia feren fo o1t gapml & o1em 9 Sl & foave & fau
[t ETIH O HT G RAT SO | 3G SARA-Yo-¥eh o &9 H 89 @l
e foran, forem Scarea-foranati o foares & fawifa ol o1 ot fofa feram)
Y A 9 R e § FHEIREl i SAEvIHhdl Hl T e fgaw off TR
fRaT1 3TH arelt Jmifast & fau 7@ 7 76 @ egER fafes Skl & e\
A b IR H Frad fRA1l AR R SR B W R FA THT AL,
T T T 7 T894 W T 150 Ffafed & JAMA 1 =oon off & T

ST ST e 9 Uikl ol IgYd Hd gC 39H afvfa fafus Asmeti & g =it
TEAM SHITSC TUT 3% FHSART |

Two years ago Mayank obtained degree in food technology. For some time he

worked in a company manufacturing Bread and Biscuits. He was not happy
in the company and decided to have his own Bread and Biscuits manufacturing
unit. For this he decided the objectives and the targets and formulated action
plan to achieve the same.

12



One of his objective was to earn 50% profit on the amount invested in the first
year. It was decided that raw materials like flour, sugar, salt etc. will be
purchased on two months credit. He also decided to follow the steps required
for marketing the products through his own outlets. He appointed Harsh as a
Production-Manager who decided the exact manner in which the production
activities are to carried out. Harsh also prepared a statement showing the
requirement of workers in the factory throughout the year. Mayank informed
Harsh about his sales target for different products, areawise for the forth
coming quarter. While working on the production table a penalty of ¥ 150 per
day was announced for not wearing the helmet, gloves and apron by the
workers.

Quoting lines from the above para identify and explain the different types of
plans discussed.

21. Ui AICST S U IgUed HFAl § ®Eikd ¢ | o &6 fodl 9 S8 @R a1l 5
e Ik K I W9 hl TE, A Il Il foh SH A Tl 39! Teafq sga
T off o1a: 3§ TEqara # ol foRan e $iR iRyl § IR W =eH & HATg
| 3TH TH weft 7 Iuk AR off . < wl sHh! T farad ge < |
St off. west ¥ Ta & G & At wH=fE # v’ fau Wa-gH
1 T Xd g Ueh fafad g <t Se 4 Yoy ol 29 foawg § qar =
@ 3HA HEA IRERX & ST YUTRI0T TAT SMF-T o & i GHE hl QY
feam

(37) I 3TT=s% § 35Yd L g A =1iier @ SHT=ReS T § gef-9aq
qfeal ol SATA HITIT |

(9) SFAra=nier TEEo &t fhl <1 fovmaeti &1 3o Fife |

(®) SR aRfearfd # aa &1 99fa fhe S 9t 6=l & Jei & 9e9m
HifTT |
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Prateek is working in a multi-national company in Noida. He was running
temperature for the last many days. When his blood was tested, he was found
positive for malaria. He was admitted in the hospital and a blood transfusion
was advised by the doctors as his condition was very serious. One of his
colleagues sent a text message to his superior ‘Mr. B. Chatterjee’.
Mr. B. Chatterjee, immediately sent a text message to the employees of the
organisation requesting them to donate blood for Prateek. When the General
Manager came to know about it he ordered for fumigation in the company
premises and for cleaning the surroundings.

(a) From the above para quote lines that indicate formal and informal
communication.

(b) State any two features of informal communication.

(¢) Identify any two values that are being communicated to the society in
the above case.

fTa=o1 gferan & =01 1 ool hifeig |

State the steps in the controlling process.

‘T’ i Tl =R farodisti 1 9uid ity |

Describe any four characteristics of ‘co-ordination’.

*Y fafee T Sauerd vl S g1 36! 79 ISt T 60 @@ &1 fUsa
a9 gHe! gfd &9 o T 0.50 ot fafadfieto & fau st =61 3 40 @@
STaRe St ol STEvAehal 1 $9oh foT HFAT 7 10% R0T9s FifHd &tk fod
Thd a1 =me] o # faf=aifsd gt ® et 3 2 8 s wry @it feram

T 40% T X H K YIaH fmaA

(31) Iooi@ Siftoe o fafaeientor 9 SToenfEl ol 9fd o139 /™9 W &y Agan
T g2 STUAT UM I TR ®Y § TR

() Y B ok YSil Bid o Teh AW o &Y § KA gRI RIS o (AT o 98
T for=l 91 SRl ol Seci@ ol HiIf |
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Kay Ltd. is a company manufacturing textiles. It has a share capital of
% 60 lakhs. In the previous year its earning per share was I 0.50. For
diversification, the company requires additional capital of ¥ 40 lakhs. The
company raised funds by issuing 10% Debentures for the same. During the
year the company earned profit of ¥ 8 lakhs on capital employed. It paid
tax @ 40%.

(a) State whether the shareholders gained or lost, in respect of earning per
share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by the
company as part of its capital structure.

el 7 TEA TEH i oM 9§ IR Sl Tk didd @S| sidd W T
G T AE ot | T ITANT ik o SHR B Mg | SUHIK GXer sifufrem
& F<id 394 TS wE § uw aifeet s i 2R 39 Ued fya e

(31) IWIe fearfd § 39 Hewequl gge] ol qg=nie fSeh! foqumersl g staser
w7

(9) T (31) | TgaH T &) % Al 1 Q9 § U hIfQ |

Vasvi purchased a bottle of pickle from the local grocery shop. The information
provided on the bottle was not clear. She fell sick on consuming it. She filed
a case in the District forum under Consumer Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above
case.

(b) Explain briefly the functions of the aspect identified in (a) above.
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